Markets Structures
Market Structures
There are 4 basic types of market structures
· Perfect Competition

· Monopolistic competition

· Oligopoly

· Monopoly

These are largely differentiated by the level of competition in each of them.
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Besides competition, the other major differences between the market structures are the following:
· Number and relative size of the firms in the market

· Degree of influence of firms on the market   E.g. on price

· Degree of product differentiation

· Existence of barriers to entry into the market

Perfect competition
Perfect competition markets have the following characteristics

· Large number of buyers and sellers – this means there is a high level of competition on both buying and selling parts of the market.

· No one buyer or seller can influence the market price or conditions in the market

· Each seller sells identical (homogenous) products

· There are no barriers to entry

· There is perfect knowledge for both consumers and producers.  That is, the prices of all resources and products are known and all available technologies are known

· Producers will maximise their profits.  Since most operate at a minimal profit margin they will be unwilling to lower prices for an extended period of time

· The elasticity of products in Perfect Competition markets are very very elastic.  



An example of a Perfect Competition market would be Fruit Growers.
· There are a large number of orchards
· You can’t influence the market price because people will just go to the next orchard (this also means that these products must be elastic)

· You all sell the same kind of orange

· It is very easy to grow a fruit tree and hence be a part of this market

· There is no necessary technology or knowledge that you would need to know about getting into this market.

Activity
Explain why firms in perfect competition are described as ‘price takers’
Briefly describe a market that you believe to be perfectly competitive and describe

· The features that support your classification of the market as perfectly competitive

· The features which cause if to fall short of the classification

You could follow the pattern adopted above in terms of the orange orchards. Give your answer in note form in the table below:

	Number of sellers
	Influence on price
	Homogenous products
	Barriers to entry

	
	
	
	

	Features causing the market to fall short of perfect competition

	
	
	
	


Monopolistic Competition
This is a market structure in which many small firms sell products that are similar but not identical
Characteristics of this market structure are as follows:
· Large number of small firms – This is what you will see primarily when you walk down the street.  An example would be a restaurant.
· Product differentiation – Each firm tries to make itself unique in the market by making distinguishing features E.g. Roger David sells a particular style of clothes for men, Rivers sells a different style, while a surf shop sells different again.
· No significant barriers to entry – Relatively easy to get into the market.  That is, there is no technology, costs, or knowledge that is absolutely necessary.
· Firms have some control over price – no one firms has control over the market but can very insignificantly affect prices.  This is different to perfect competition where firms have no impact on prices.  If firms can establish brand/store loyalty then they can affect the price a little
· Non-price competition – In addition to price competition, firms also engage in non-price competition.  This can be seen in branding, association with personalities, quality products etc…
· The market is relatively elastic



Activity

In groups of 2, read the following scenario and write down the features that categorise the hairdressing market as monopolistic.  Use the table below to write your answer in note form.
Billy the hairdresser recently completed his TAFE course in hair design and has worked for the last 2 years at Great Cuts on Rundle in the Rundle Mall.  He now wants to open his own salon and wants it to be an ‘upper class’ salon with the name “Stunning hair”.  He wants to show by the name that his hair salon is different to the normal hairdressers.  He has noticed a shop for lease in Burnside village and a simple scout around shows you that there are no other hairdressers in the village but two operate nearby on Portrush Road.  He plans to charge a reasonable amount that identifies him with being a quality hair designer.

	Number of sellers
	Influence on price
	Homogenous products
	Barriers to entry

	
	
	
	

	Features causing the market to fall short of perfect competition

	
	
	
	


Oligopoly
An oligopoly is a market structure dominated by a few large firms which supply most of the market.
Characteristics are as follows:

· Few firms in the market – there may be 50 firms in a market, but 3 firms supply 90%.  Hence and oligopoly.
· Product differentiation – Firms will differentiate their product to make it stand out amongst competitors.  E.g. Branding or through technological developments
· Non-price competition – Firms tend not to compete on price as this will often start a price war which no-one gains from and firms just drive each others prices low.  This is destructive and hence firms generally agree to let prices rise gradually.
· High barriers to entry – Such as 

· Economies of scale – large firms have the ability to produce in bulk and hence reduce their costs per item produced.  This makes it difficult for a small producer to compete.

· Setup costs – It may cost millions of dollars to set up a business in this market E.g. Banks 

· Secret ingredients, patents, control over raw materials

· High advertising costs

· High incentive to collude – This forces other smaller firms out of the market
· Kinked demand curve – This market is both elastic and inelastic at the same time.  If the price rises above the market price level then the product is elastic, while if it goes below the price level it is inelastic.

Activity 

What is non-price competition and why is it important for oligopolies?

If, in an oligopoly market, one firm raises its prices, what are its competitors likely to do?  Explain why.

Monopoly

A pure monopoly is a market structure in which there is only one seller of a product that has no close substitutes and there are significant barriers to entry.
Features of a monopoly are as follows:
· One firms supplies the whole market – National monopolies are rare E.g. Australia Post however, local monopolies are easier to find.  E.g. one doctor in a small country town.

· The seller is the price maker – They have total control over what price to charge for their product.  This is generally avoided by government regulations on price

· There are no close substitutes to the product 

· Barriers to entry exist
· Laws are put in place to prevent competition in certain markets.  

· Economies of scale 

· Control of resources – If a firm controls all the resources they can choose not to sell them to anyone else and hence maintain a monopoly

· Set up costs – Usually enormous and you will usually need to run at a loss for a while

· Perfectly inelastic demand curve



Activity
Use the diagram of an inelastic demand curve above to explain why a monopolist can’t set both price and quantity

Why are monopolists regarded as price makers?

Complete the following table
	
	Perfect Competition
	Monopolistic competition
	Oligopoly
	Monopoly

	Number of sellers
	
	
	
	

	Ease of entry
	
	
	
	

	Product nature
	
	
	
	

	Level of price competition
	
	
	
	

	Use of new technology
	
	
	
	

	Examples
	
	
	
	


 Evaluating market structures
Objectives of the market

· Lower prices – successful markets deliver products to consumers at the lowest possible prices while still allowing producers to make a profit.  
· Choice – A large number of firms gives consumers a good selection in terms of firms and products
· Effective allocation of resources – When businesses are producing goods that consumers want.  This occurs when consumer are able to maximise the utility of scarce resources.  That is, produce those foods and services that are in the greatest demand and there is no waste.
· Competition – This keeps sellers ‘honest’ and active.  For consumers, competitive markets provide the best in terms of price, quality and choice.  For firms, it enables them to earn normal profit.  
· Quality – competition promotes quality since firms are vying for customers attention and hence quality is essential.  Would you go back to somewhere that sold you a dodgy product?
· Technological innovation – In order to keep costs down and profits up firms are constantly looking for new and better ways to do things.  
· Information – When information is available to both buyers and sellers that allows them to make informed decisions.  E.g. past owners of a used car.
· Maximise satisfaction – where both consumer and producer are both satisfied
· Profitability – markets must provide firms with profits.  It also encourages new firms to enter the market.  

Activity
Fill in the following table on evaluating market structures

	Market Structure
	Lower prices
	Choice
	Quality
	Efficiency
	Technological development
	Information
	Profitability

	Perfect Competition
	
	
	
	
	
	
	

	Consumers
	
	
	
	
	
	
	

	Producers
	
	
	
	
	
	
	

	Monopolistic Competition
	
	
	
	
	
	
	

	Consumers 
	
	
	
	
	
	
	

	Producers
	
	
	
	
	
	
	

	Oligopoly
	
	
	
	
	
	
	

	Consumers
	
	
	
	
	
	
	

	Producers
	
	
	
	
	
	
	

	Monopoly
	
	
	
	
	
	
	

	Consumers 
	
	
	
	
	
	
	

	Producers
	
	
	
	
	
	
	


Which markets best suit consumers?  Why?
Which markets best suit producers?  Why?

Do we want all markets to be perfectly competitive?  Why?

Market Failure
In general, the more competitive a market, the less prone it is to failure.  It is important to realise however that no one market meets all the criteria for a successful market and therefore all fail in some way.  
Activity
Using the internet, find out what the following forms of anticompetitive behaviour are

Collusion

Third line forcing

Exclusive dealing

Resale Price Maintenance

Misuse of market power

Mergers and takeovers

Redressing market failure 
Markets fail in many ways, as such, Government needs to implement policy to redress this failure.  Some common examples of redressing this market failure include:

Price Floors and Ceilings – refer to your notes in the last topic 
How might a price floor be used to redress market failure?  Use a diagram in your response.

How might a price ceiling be used to redress market failure?  Use a diagram in your response.

Quota’s

Quotas are limits placed on firms or industries for the production of certain goods (usually agricultural).  They might also limit supply in a market that is over supplied and hence the price received by producers is too low.  This is rarely used any more.

A quota is the maximum quantity that each producer is allowed to sell and has the effect of reducing supply in a market.  One problem with this method of action is that resource allocation is distorted.

This can be seen graphically below.
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How does the government use a quota in order to influence a market?

Subsidies

Subsidies are payments by government to firms to help reduce their operating costs.  Hence, subsidies are aimed at increasing the supply of products in a market at cheaper prices.  E.g. childcare services are subsidies by the government to make them more affordable so mum’s can go back to work more easily and contribute to the economy.  Another example was a subsidy given to mechanics to be able to cheaply convert petrol cars to gas cars when petrol prices escalated.  

Funds to pay for subsidies comes from taxation and are often given to specific areas.  In this way, income is re-distributed.

This can be seen graphically below.
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Power stations will be connected together and will be able to sell surplus power anywhere in Australia.  In addition, most power generating and distributing enterprises will be privately owned.  It is expected that the market for electricity will then be competitive in contrast to the former state markets which were each supplied by a single government owned enterprise.

· Would you expect prices of electricity to decrease?  Why?

· Would you expect the rate of adoption of new technologies and spending on research and development to increase or decrease?  Why?

· Pacific power, a very large power generating company in NSW, produces electricity quite cheaply.  Use the concept of economies of scale to explain why large firms are often lower cost producers than small firms are.

Taxes
Taxes are another common method of redress.  They are usually placed directly on products.  Excise tax is a common one.  This is placed on certain goods such as petrol, cigarettes and alcohol.  Its purpose is to reduce the consumption of ‘undesirable’ goods.  Putting a tax on the products pushes up the costs of production and hence decreases supply.
This tax revenue is then reallocated to correct market failure caused by the issue.  E.g. tax revenue from cigarettes may be used to help fight lung cancer.

The following diagram illustrates the effect of a tax.




Mind Map Summary
Draw a mind map on a blank piece of paper or in your book making sure that you link the following words around the general theme of “How the market works”

In your mind map make sure you include all the following words
Demand

Supply

Equilibrium

Factors of demand – put at least 4 in

Factors of supply – put at least 4 in

Shortage

Surplus

Price floor

Price ceiling

Elastic

Inelastic

Substitutes

Necessity

Durability

Complementary goods

Relative cost

Total revenue

Excess capacity

Availability of resources

Production time

Ability to hold stocks

Perfect competition

Monopolistic competition

Oligopoly

Monopoly

Lower prices

Choice

Effective allocation of resources

Competition

Quality

Technological innovation

Information

Profitability

Market failure – include at least 5 types

ACCC

Trade Practices Act 1974 (Cth)

Make sure you include diagrams as well

You may need an A3 piece of paper to do this.
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